
 TOUCHSCREEN GLASS256.4

TOUCHSCREEN GLASS
176.6

R10

41.1

COVER GLASS
5

75

75

90.7

30.3

ACTIVE AREA
220

ACTIVE AREA
138.6

 MOUNTING BRACKET280.1

MOUNTING BRACKET
200.3

40 40

40 40

16.7

27

81

54

35
25.8 34.5

LOUVERS
 

3

18.6

DIMENSIONAL DRAWING:  MS603228

REV: A 
DATE:  04/JAN/2023

MS603228 
DIMENSIONS ARE IN MILLIMETERS

  SHEET 1 OF 4                              
 

6

AMBIENT SENSOR WINDOW 

DC POWER INPUTHDMI IN
VGA VIDEO IN REMOTE OSD

TOUCH USB OUT

DISPLAYPORT IN

VESA MOUNT
M4 THREAD, X4
MAX SCREW DEPTH = 7MM
FROM MOUNTING SURFACE

FAN*2



DIMENSIONAL DRAWING: MS603228 

REV: A
DATE:  04/JAN/2023

MS603228  
DIMENSIONS ARE IN MILLIMETERS

RECOMMENDED MOUNTING ORIENTATION
NOTE: THE AMBIENT LIGHT SENSOR MAY NOT FUNCTION
PROPERLY IF THE PRODUCT IS NOT MOUNTED AS RECOMMENDED.

LANDSCAPE

PORTRAIT

AMBIENT SENSOR

AMBIENT SENSOR



 OPENNING241.5

 RECESS258.2

 OPENNING161.7

 RECESS178.4

4X R10.9

4X R2

RECESS DEPTH
7.44

 TO 3MM1

8.35

DIMENSIONAL DRAWING: MS603228 

REV: A
DATE:  04/JAN/2023

MS603228
DIMENSIONS ARE IN MILLIMETERS

CUSTOMER RECOMMENDED MOUNTING GEOMETRY

FRONT VIEW

SIDE VIEW

SECTION A-A

SEE DETAIL MOUNTING LIP

DETAIL MOUNTING LIP
SCALE 3.000



DIMENSIONAL DRAWING:  MS603228

REV: A 
DATE:  O4/JAN/2023

MS603228 
DIMENSIONS ARE IN MILLIMETERS

FLUSH-MOUNT BRACKET INSTALLATION NOTES:
1. PLACE THE DISPLAY INTO THE ENCLOSURE PANEL OPENING (SEE SHEET 3 FOR
DETAILS OF OPENING DIMENSIONS).
2. ATTACH FLUSH MOUNTING BRACKETS ON ALL FOUR SIDES OF DISPLAY WITH HEX
HEAD M4x5 BRACKET SCREWS TO SECURE THE DISPLAY TO THE ENCLOSURE PANEL.
ADJUST THE DISPLAY AS CLOSE AS POSSIBLE TO FLUSH WITH THE FRONT OF THE
ENCLSOURE PANEL BEFORE TIGHTENING M4 BRACKET SCREWS. A SOCKET WRENCH IS
RECOMMENDED IF CLEARANCE IS LIMITED.
3. TIGHTNE THE M4x6 CLAMPING SCREWS ON THE MOUNTING BRACKETS TO BRING THE
TOUCHSCREEN GLASS COMPLETELY FLUSH WITH THE ENCLOSURE PANEL, COMPRESSING
THE SEALING

CABLE ROUNTING CLEARANCE NOTES:
 
AT THE IO OUT PORTS SIDE, PLEASE RESERVE ENOUGH ROOM FOR CALBES ROUNTING ACCORDING TO CABLE TYPE/DIMENSION . 

MOUNTING BRAKET X2
(TOP AND BOTTOM)

MOUNTING BRACKET X2
(RIGHT AND LEFT)

M4X5 HEX HEAD SCREW  

M4x7 PAN HEAD SCREW

CUSTOMER
ENCLOSURE

PANEL

SEALING GASKET


	Sheet 1
	Views
	new_view_1
	right_2
	bottom_3
	top_5
	right_6


	Sheet 2
	Views
	new_view_14
	new_view_15


	Sheet 3
	Views
	new_view_17
	right_18
	MOUNTING LIP


	Sheet 4
	Views
	new_view_12
	new_view_21



